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Losung Al

Differenzenquotient:

Ay gle+h)—g)+k(x+h)—k(x) _ 3(x+h)?—3x%+(x+h+2)3—(x+2)3
E - x+h—x - h

Daraus folgt:

Ay  3x2+6hx+3h?-3x%+(x+h+2)%-(x+h+2)—(x3+6x%+12x+8)

Ax h
6hx+3h%+(x2+2hx+4x+4h+h?+4)(x+h+2)—x3-6x%-12x-8

h
h(6x+3h)+x3+3hx?+6x%+3h%x+12hx+12x+h3+6h%+12h+8—x3—-6x2-12x—8
h

h(6x+3h)+3hx2+3h%x+12hx+12x+h3+6h*+12h

h

__ h(6x+3h)+h(3x%+3hx+12x+h?*+6h+12)

- R

= (6x + 3h) + (3x% + 3hx + 12x + h? + 6h + 12)
2—3; =f'(x) = ’girrh(6x + 3h) + (3x% + 3hx + 12x + h? + 6h + 12) = (6x) + (3x2 + 12x + 12)
g(x) = 3x%; g'(x) = 6x
k(x)=(x+2)3=x3+6x>+12x+8 k'(x) =3x% +12x + 12
f'(x) =9"(x) + k'(x) = 6x +3x% + 12x + 12

q.e.d.
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